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= Al 35,325,000 | 100.00% 35,300,000 | 100.00% 25,000 0.07%
SE3 A 35,325,000 | 100.00% 35,300,000 | 100.00% 25,000 0.07%
JIEtSE 3 A 35,325,000 | 100.00% 35,300,000 | 100.00% 25,000 0.07%
=EHINLSE A 6,021,000 | 17.04% 5,996,000 | 16.99% 25,000 0.42%
2sdII=SEAA 2,372,000 6.71% 2,372,000 6.72% 0 0.00%
HASFUFNHFIISE 620,000 1.76% 620,000 1.76% 0 0.00%
3l A
FUAST AL HEOE | 1,495,000 4.23% 1,495,000 4.24% 0 0.00%
=SE3 A
ZII0IEHAIHE AL 250,000 0.71% 250,000 0.71% 0 0.00%
NEAAANEESA
SSNFAZLEALEZ A 2,953,000 8.36% 2,953,000 8.37% 0 0.00%
X=ASSE 3 A 18,900,000 | 53.50% 18,900,000 | 53.54% 0 0.00%
JIBFAIE SE 3 616,000 1.74% 616,000 1.75% 0 0.00%
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2,098,000 5.94% 2,098,000 5.94% 0 0.00%




